
INSTALLATION INSTRUCTIONS

PACKAGE CONTENTS TOOLS

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installation and the use of Rally Innovations products. Rally Innovations products are sold 
as decorative accessories and should not be relied upon as protection for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any aftermarket Light Bar or Skid Guard without first consulting the vehicle manufacturer. Rally Innovations, a subsidiary of Pentech 
Automotive assumes no liability for injury, loss, incidental or consequential damages in the event of a collision or roll over.

Make:

Model:

Application:

1/2” Socket and Wrench
9/16” Socket and Wrench

Phillips Screwdriver

Rev. 10/16

QTY QTY
2

Subaru

2011-2014 WRX STI

Light Conversion

Remove the (2) Phillips screws on the inner side of the 
fog light.

Push in the (2) tabs near the location identi�ed above 
and carefully pull the fog light backwards.

Carefully remove the side vent and fog light covers.

Attach the Mounting Bracket with (2) 5/16” Hex 
Bolts, (4) Flat Washers, (2) Lock Washers, and (2) 
Hex Nuts. Note that the slotted �ange is on the 
bottom side.

Baja Designs Squadron
2 Mounting Bracket

4 5/16”-18 Hex Nut
4 5/16” Lock Washer
8 5/16” Flat Washer

4 5/16”-18 x 1” Hex Bolt

3 4

21



DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installation and the use of Rally Innovations products. Rally Innovations products are sold 
as decorative accessories and should not be relied upon as protection for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system 
(air bag) deployed by impact should not be modified by any aftermarket Light Bar or Skid Guard without first consulting the vehicle manufacturer. Rally Innovations, a subsidiary of Pentech 
Automotive assumes no liability for injury, loss, incidental or consequential damages in the event of a collision or roll over.

Rev. 10/16

5 6

Attach the Baja Design Squadrons to the Mounting 
Brackets. Slide the lights all the way forward and 
tighten the hardware.

Re-attach fog cover and adjust light positioning as 
necessary. Wire the lights and re-attach the side 
vent covers.


